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Diractions [1-2) : In the follow- (29, 36, 41) Directions (20-21) : [n each of
M.aqueaﬂm which ene of the given (1) "6, 24, 54) the following questlons, some questions
ponses wouild be a meaningil or- {2) 23, 29, 57)- are solved on the basis of a cerlain’
:I-erafthe follorardng * (3) 117, 24, 59) system. On th: same basls, find out
1. {1} Pond 2] Sea (4] 22, 30, 54) the eorrect answer from amongst Lhe
(3)Ocean [4] Lake Directlons : In the following o or the o
14,231 [23.21 4 s ons et of ltiexs ooy tion ineach question.
@E42 48412 questianwhich on: : w 20.0{3%3=18 4x4=32 T=7
LR o sequentially placed at the gaps in the = 08, then 6 x 6 =7
"'[H Mﬁ 2) Word given l=tier series Bhﬂjlm.pltt.ﬂlt? (112 236
[3) Sentence * (4) Book 13 _op_mb_n,__pnmop_ i3) 46 (4} 72
(%) Paragraph (limnpomn 2LIf4-4=17,6-6=37,2-2=
321,45 Zimnompn S thenfA-5=7"
(223,514 BImnpmon (127 (2126
(924315 Mimpnmap 13} 20 4124
31,54 Disvetions (14-19) : 1h eachof 3217 {-) stands for division. (+) for
Directions (3-11) : In following e fliowing questions, selec: the miss- multiplication. (+] for subtracion
quzstiona’select the cne which ls dif- ing number/letter/figures from the and (=) for additkon, which one
ferent from theothet three resjonses  goen regmonses. of the folowing answers Is cor-
a[llw 4ADGJIM PP rect to the gheen equation 7
(2 Amcitaar g (R 100 + 5- 10 #2502 200 = 2
(3) Hyderabad T s {1} 150 {2)200
(4) Bargalore by (3 50 (4) 100
4 (1) Lauzgs. (2) Foot 18 ﬁf;ﬁm mﬁfﬁ? Direotions (23-33) : In follw--
S Inesline  [4) Liver (@ Gm‘ Eﬂﬁl‘-‘l.. ing questions sslect the wlated letiee/
(3) UWY [4) MOR 0 B 1P L, akexmaitves.
8. (1) LKBC [2) DEVW (1) 262 21 23. Horse : Stable » Man - 7
(3) LMEXY [4) TUWX: (3) 480 :41 213 (1) Woman (2) Home
7.(ADGIM (2 HENGT 17.4,8,7, 14,10, 20, 7 (3) Whip (4)Clothes
[HPSVYB  [4)SVXAD {1]14. 2).30 24. Satisfactiry : Good ;- Warm: 7
(3} 40 4) 89 18. Grasstion Figures [3) Fire [4)Hol
_ W AR NO:CD:?
— . . -{: £ 9 =4 1) OP [2)LM
= m E = (3) PQ [4IMN
38.BDC = JLK i FHG: ¢
no@. B Ansper Figuros (1) KL IRUS
E j . \ {3 NPO 4 PQR
. ] T T T J T / 27.BDFH : JLNP :: ACEG : ?
: L= {1} BRTU . [2VIKMO
| [ iy 3 (4]
@ﬂ @ . [@ORRU  [4HIMQ
‘ i{m L 19, Geation Figuros 28.7 150 : 7 122
iy " 2 13 4 ) J 110 {215
W()2636 1) 4456 L g 9 @os @
(33945  14)66-78 - [ 20,4862 : 131 :: 6482 : 7
1L Frnmmgmurnumbmgm:n Answer Flgures Co(1)4231 {2)2413
e et o o B L SO
e 30.64 ;100 144 7
ﬂﬂ-iu ‘F{ﬂm mmj mdrl' (1) 196 {2121
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ing number from the ghen respons-

s,
8312 (133 144

g ¥y Bl
7 42 49
(1} 80 (2 45,
(3} 36 (4) 72
.45 6
34 7
2 1 2
9 10 12
8 (2) 4
i) 2 4] 6
35| 4 5 | B
sl 7|7
3|z |5
135 | 140 | 150
(1) 4 @5
(3) 8 i4) 10
3.4 9 B
3 6 4
4 7 3
3 7
m7 [2) 6
@8 i4) 9
NP ATV ANCIR L VAN
1% 54, 7
1 g 5
(1186 (2
(31 48 (4) 32

alternative words, select the wond
which ean be formed using the letters
of th.s given word.
42, LIMITATICN
(1) INTONE (2] ACTION
{31 OMIT 4] TUTION
43. COMPUTERISATION
(1) COMPUTATION
(2] COMBON-
(3} TENSION
(4) RESIST
Directions (44 - 47) : In cach
of the following questions frorm the gh-
&n alternative words, select the word
which cannot be formed using the let-
ters of the ghven word.
dd. TRANSLATION

(1) LioM
(3] TAIL

48. CHALLENGE

{1} CALL
(3] CHANGE

48, DOWNWARD

(1) DOWN
(3] ORDER

2) TRAIM .
(4] RELATIOMN

R AGE

(4} CHARGE

(2] DAWN
4] WARD

47. NUISANCE
(1) SANE [2) NICE
(3 NUNS [4) 5INS

48, In a2 town, 65% of people
walched the news on televislon,
20% read a newspaper and 26%
read a newspaper and watched
news on televislon alsd. What per
cent_of the people nelther
watched the news on television
nor read a newspaper T

2008(Second Shift) Ve JOSh
31~ﬂ-ﬂﬂll;ltﬂ- skt Aves T N s 210
315 (420
i L #8. A ls B's brothen C1s A's motfjer.
C. | } sad: f', Y \r 515 [¥s grand daughter, Flss
sai. HmrlnF:‘ﬂl].edei
" Answer Figures {1) Grandson
' (3) 52 l.'l]Eﬂ
- N - = MAN [4) Great grandson
R Y - . fmﬁmﬁmﬁ
: 8 age was
33 guestion Figures ﬂﬁwmmmm& of son's age. Is the age of
i -u::ﬂ:i . "u;:ngdlng mom oW ?
Im'@::[%: 9 | m“é“';,;?i.‘.f'im (1) 35 12 38
e[l ‘| womp ? (3) 40 ) 15
’ GICMA MICA 51, Antta Is taller than Seeta. Seeta
Angwes Figures {1) LORD {2] ORLD {s ahorter than Vesna. Meenu is
Grob fpon e e,
41.1f HACB means §132i DEFA is ' 3", who Is the tallest of all
means (1) Secta (2) Anita
[1) 4851 12) 4561 (3] Meenun (4] Vesna
i 3 ) {2} 4158 (4) 5641 52.In a row of girls, Seeta and
Directions (33-38) : In each of DMrections (42-43) : In each of Geetha are 8th from the right end
 the following questions select the miss-  the following questions frorh the ghven and 15th from the left end re-

apectively. When Seeta and
Geetha interchange thelr posi-
thona, Geethn becomes 21 81 from.
the left end. What is the posi-
thon of Seeta from the right end 7
1) 17th (2] 16th
[ 15th {41 18th

83, There are flve different houses
Ao E, In a row. A Is to the right
of B and E 18 to the left of C and
tlight of A B bs b6 the right of D.
Which of the honses {s in the
mdckdle ?
e 2T A
[t1)=] 4 D

B4. Two cyclists start from a certain
village in the appoalte direction-
one goes towards the north at
20 km,/hr. and the other goes
towards south at the speed of
18 kan/hr. At what tiove will they
“be 57 km apart 7

1
81} 1-5 hours (212 hours

(3 2% hours  {4) 3 hours

B8, Vishal walks 2 kms towards
Sputh. He then turns fght and
walks 3 kms, He now tumas lefl
and walks 5 kms. Further, he
moves 2 kms after torming to the
i&t, In which direction is he fac-
Ing?
{1rWest
[#) North

(2] Emst
(4] South
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B6. Kannan walked 10 kins torwards 61. Btatements : :
North. From there he turped Officers. want their children to
back and walked 6 lons towards bé-officers 1o sn F
.‘“*M*"“‘??’W'“m {0 1t is the only good job avall- -
the starting poiat able. : c
USkm. {3 §kmn {1} They want their children :
(3 7 km (4] 3 km enmzwmmuﬁmﬁ In the above figure, triangle rep-
B7. Shashi and Synil start from 0. privileges that they had en- resents girls, the square repre-
and walked in opposite direc- joyed during thelr regime. sents sports persons and the
tions. Shashi covered 7 kma to- 1) Only 1 implicit : circle represents coaches,
wartls west to. A srwd Sundl walked (2) Only 1T is Implich Which portion in the figure rep-
to east 5 st B. Sund turned (3) Both 1 and IT are tmplicit resenls girls., who are sports
to his left and covered 3 kms to (4) Netther I nor I persons but not coaches 7
Dand Shashi tumed toher right g o SLNer ! nor B8 Implicit ma @B
nd walked 5 1ma to . How far aagv:lnth‘:l;::aﬁeur:amg (2 D GE
are they fram each other? rectly represents the relatios. Directions : In the following
{1} 14 (2] 12 ship among Boys Shudent » andk quesstion, If a mirror is placed on the
(3} 14 116, Athletes. line PQ, then which of the answer fig-
. Directions (BA-81) : In each of . . ures is the correct image of the given
are ! beno com- 86. Question Figure
chigtons [ and IL You have to consider @ ©
oot I I R U | 1
BEEm 1 comm- : i
monly known facts.Y¥ou have to de- &3 Find out which of the dingrams: 2
. chte which of the given cantluslons, if as given in the alterhatives cor- Answrer Figures
any, follove from the given stalements., rectly represents the relation- _ =11 .
85, Statsments ; ship among Languages, Hindi E i ‘@Q | T
All plctures pee paintings. and English. el | DY RS Y
No painting ischeap. _ _ i@ 6 W
w: (1] Directions : In the following
ng:l]?mhm question count the number of trian-
paintings are pictures. - ghes In the figure below and select the
(1) Only 11 folttws (2 CID O correct answer from the responses,
(2) Ediher | or 11 follows — 87, guestion Figure
[b1] dnlg]‘fo]]m . -
(4] Both Land Ii follow AN
B6. Btatements ad.
All aninfiak irs four footed.
Aﬂmma:mmh. ‘ Teachers /
M) Some fonsr Fobteed are goats, ?ﬁv (315 (4) 18
{1) Only I follows v : DMMrections : [n the following
(2] Only 1t follows Indtans=p Engineers  Quastion among the four answer fig-
‘(3] Both | and I follow - urex, which figure can be formed from
{4) Neither I nor TI fallows., In the above figure there are 3 the cut-pieces given below in the ques-
0. Statemerits : intersecting circles, each repre-  thon figure ?
Mriister s & stadeat. senting certain section ofpeople. @k Question Figure
. ) biident 1s'In i Diﬂtr;ntmg[unsmmﬂﬂdtgr Tas
Every v experienced numbers 1 to 7. Read the state- {}
Concluslons : t below and chooss -
) Every Minisier is Inexperi- bers and the mum
enped, bﬂscfﬂreregtmtu] which correctly kY
. represents the statement.
m mmEWancmare alu- Engineers who are nelther Indi- Answer Figures
{1) Oy 1 follows ;?1,,“ arcepreaent: 0
12) Omly I follows 1z 2] a @ @ &
(3] Both 1 and 1 follow B
{8 Netther s oot 1 ot (3] 41 4 TR
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88, Three posltions of a dice are
shieram, Find the mumber of dota
on the face oppoasite the face
bearing 3 dots.

Queation Flgures

99

s (2) 4
L () 2
Directions (70-T3) : In cach of
the following questions, which answer
figure will complets the pattern in the
question figure 7
T0. Cuestion Figure

i
Y

3

Answer Flgures
IR s
71. Juestion Figure
7
Answer Figurna

X
"L

ORDE

(L (2} {3} 4)

Directions (74-TH) : in each of
the following questions, from the ghe-
en answer figures, select the one in
which the question figure is hidden/
embedded,

74. Question Figure

i 4] [3} [l]'
70. Question Figure

iy o i4)
Directions (76-77) 1 In each o
t.‘ne l'nl]mmgquesﬂms which one of
angwef figures is hidden in the
lnljuwh'lgqmathn flgure ?
78. Question Figure

B

TV, Question Figure
X
|
'mnguai_
| X O A
in 2} 13} 4

Directions (78-81) : In edth of
the following queations, a of pa-
per s folded and’ a3 showm
below (n the question jurss, From
the ghven answer Agures Indleate how
1t will appear when openéd.

(2 CEN] 4
™ ﬂnuﬂn-:l’lpu

155_@
S
7]

N T -1 SR
80 goestion Figares

DI e
Acsres Figures

{n (2) (3
81. guestion Figures

3| 6l e
2k

m a1y @
Directions (83-83) : In each of
the following questions in a code lan-
guage the following alphabets are cod-
ed in a partleular way as shown. How
are the ghven betters coded In that lan-
Buage?
BL[A|C|N[PIR[MID|Y|Z|0
SiElL{Aj2[0)4(T(8]|9
RMAZYPC

2058763
212058637
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[B2058738- [3) Mr. Bhuttani Sab In the following question a group
4z0o58673 Uma Bhaban ﬂmrimmummmm
A Allahakad equivalent fs ghven in ons of the col-
DI CRIEIEIEIEI OO Uther Pradesh umns (1), 2}, (3)or (4). Study the group
- 4} Mr. Bhuteni Sab of letters given in the question and with
YDCJNL Ui Bluvavan the help of code given above, choose
(11185745 Allahiabhad the code equivalent from amongst (1),
2187548 Uttar Pradesh [2). (3) or (4] a8 your answer.
3185478 87. Hamaljit Mahto B2, GPY
ng l-ﬂjﬂ?g 5 72, Sakharpeth. 55[1:!}1:-1 19[12;'| 11 urﬂ T 11'*‘::21
m:mm&m ﬁi‘qm??llmn 122508 170520 15105 190819
the name of a town and & Hate fol- 72 ) 1BO404 011816 1408 2 18O
: by four o ' o 2, Sakharpeth, WEA N2 FI6H H=s
antrnml abel m““'.mm'" uhauve“ Darjeeling. 771358 EWM TR MBS 606N
. I_Mmh“cu'“ . (2) Eamaljit Mahto WM IR BNE 61
-lﬂrnmﬂthmmumemﬁxmu“m! T2, Satharpeth Directioma (83-88) : In each of
Darjeeting. 771358 the fol questions below are giv-
‘84 Chilakslalupet - 13 Karmalit Mahto 811 BOme Numbers of candidated
18th Octob. 1856 72, Bakharpeth registered at different centres for an
[§1] (“ﬂ.ﬂﬁliﬂhlpﬂﬂ- [}IIjDﬂHIqL 71358 examination. The frst two digits from
lﬂﬂ'..-ﬂﬂlm {4) Kamaljit Mahto the left atard-for the centre code and
" ! 72. Satharapeth the next four for the serinl number of
(3] Chilekalahupes, . Directions (88-91) : In each of Answer the following questions
" 18th 1855 the following questions, given below based on this sample of roll numbers.
@ ,:h,ma“m]-;hm'd- . are letters A to Z. Under each Capttal 333184 568001 530357 352939
" 18th Octoh, 1856 Letter a amall leiter is written which 353183 59471 202822 294225
0. Is tobe used as a code forthe Capital 329143 200220 533642 532007

. . reproduced
againat (1), (2), (3) and (4). OF them,
ihiree have somé mistakes or the oth-
erwhile one i EXACTLY the same as
gtk below, Yo are to choose the one
an your answer which is EXACTLY the
same reproduction of the given ad-
dreas.

. Mr. Bhutani Sah

Lt Baarwan

‘Alishabad

Thtar Pradesh

(1) Mr. Bhutani Sab

Uma Bhawan
Allahabad
Uttar Pradesh

(2] ‘Mr. Bhirtani Seb

'Uma Bhavan
Allahabbéd
Uter Pradesh

Letters,

L TER ]
a0 ==
W =
=) A = o

=| el
x| <[zl

B E[- =
NEGE
B =i —=|
-l B |

R
alaf ~{m

In each of the following questions.
A group of skt capital 't glven
and tts code-equivalent isgivtn in one
of the columans (1), (2), (3} or{d), Study
the group of letters ghven i ssth ques-
tion and with the help of dode given
above, choose the code equivalent from
armongst (1), (2), (3] or (4] as your an-
SWeT.

4] ] (3 4
acgwyn rgozck aeqwyn  lylez(
viuzey  Ibjgesw  uyizev  Inhdeg
pvispl xowkve mivzey agewyn
gwbzve upgnlb ewaqlt gopilp
ieqw  grutpu kwgwdb ovuton
B8. VISION
88, SINGER
80, ACTORS
81 DRIVER

Directions (92) : Below are gh-
en alphabets A to Z. Under each al-
phabet, numbers are mentioned which
are 1o be used as codes for alphabets,
GHI JKLM

o 3 1o 11 12 13

A
4] o
N T U WVWXY D
4 X

mFoga
EwEa
o

HO4888 533400 534384 333491
530001 533981 365052 32[9-1-3
359080 503001 24843 262229
83, Which of the foliowing centre
pairs serfal number. of candi-
dates begin with 'zero’ 7
(1) 35 and 29
2} 53 and 32
(3) 29 and 53
(4] 52 and 58
4. Which of the following centre
pairs has commeon serial num-
ber candidates 7
(1) 59 and 35 (2} 29 and 35
{3 32 and 33, M) 53 and 59
88, Which of the following centres
has madmum serial numbers

whose all digits are even 7
(1) B3 2) 32
& 29 [4) 35

Diractions : Which one of the fol-
lerwing powsfoplumns are connected [/
related with each other in some way 7
296, I I Iomwwv
28 22 20 19 18
30 31 20 28 25
47 44 43 41 38
56 51 63 48 45
& 62 60 08 55
TATTTAT4ATI

Bk -

JAGRAN
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(1) Columns II, [IVand V
{2) Columns I, II and IV
(3) Columns II, Il and V
(4) Columns [, llfand V
Directions (97-100) : in each
of the following questions a word is
represented by only one set of num-
bers as given in any one of the alter-
natives. The sets of numbers given in
" the alternative are represented by two
classes of alphabet as in the 2 matri-
ces given below. The columns and
rows of Matrix-1 are numbered from 0
to 4 and that of Matrix -1I from 5 to 9.
A letter can be represented first by its
row and next by column number. For
example ‘O’ can be represented by 22,
34, etc. 'L’ can be represented by 59,
85, etc. Similarly you have to identify
the correct set for the word given in

cachquestton g
Matrho~]
oJ1]2]3}4
ojw|l|G|K|]O|{D
r{folD|W|G|K
2lGl{K|O|D|W
3lpfw]|G|K]O
4l|K{O|D|{W]|G
Matrix~-H
s[e]718]|9
SIN[JA[M]I]|L]. .
6| I|{L|{NJA|M
7{A|IM]J I {L]N
sjL|NjA|M]I]
9|M|I|L|NJA

- @7. WALK
{1) 43, 56, 78, 34
2) 00, 99, 97, 22
(3) 483, 75, 97. 33 °
' (4) 56, 43, 78,96
98. KING :
A1) 21, 65, 86, 14
(2} 40, 65, 79, 43
3) 02, 96, 79, 21
~ .(4) 40, 77, 86, 32
98. GANG .
(1) 01, 58, 67, 14
(2) 20; 75, 99, 44
(3) 13, 68, 98, 43
(4) 13, 56, 79, 44
100. MIND -
(1) 57, 96, 79, 03
(2) 76, 77, 86, 24
(3) 95, 58, 79, 00
(4) 76, 89, 79, 04
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Answer: General

Intelligence
1] (2) 26 | (3) 51 | (3) 76 | (1)
2| (2) 27 | (2) 52 | (2) 77 | (2)
3] (2) 28 | (4) 53 | (2) 78 | (3)
4| (2) 29 | (4) 54 | (1) 79 | (2)
5| (3) 30| (1) 55 | (2) 80 | (1)
6| (1) 311 (2) 56 | (4) 81 | (2)
71 (4) 32| (3) 57 | (2) 82 | (3)
8| (4) 33| (4) 58 | (3) 83 | (3)
9| (1) 34| (2) 59 | (3) 84 | (4)
10| (3) 35| (2) 60 | (3) 85 | (4)
11| (2) 36 | (3) 61 | (2) 86 | (1)
12| (3) 37| (1) 62 | (1) 87 | (3)
13| (3) 38 | (4) 63 | (3) 88 | (3)
14 | (4) 39| (3) 64 | (3) 89 | (1)
15 | (2) 40 | (1) 65 | (2) 90 | (4)
16 | (2) 41| (2) 66 | (1) 91 | (2)
17 | (3) 42 | (3) 67 | (2) 92 | (3)
18 | (2) 43 | (1) 68 | (2) 93 | (3)
19 | (2) 44 | (4) 69 | (3) 94 | (4)
20| (4) 45 | (4) 70 | (1) 95 | (1)
21| (2) 46 | (3) 71 | (3) 9% | (1)
22| (4) 47 | (4) 72 | (4) 97 | (3)
23| (2) 48 | (3) 73 | (2) 98 | (4)
24 | (4) 49 | (4) 74 | (1) 99 | (4)
25| (3) 50 | (4) 75 | (3) 100 | (4)




